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Density CER Exemplar

Claim (We completed this as a class):

In order to figure out which box has the napkins, Zoe needs to know the mass of the two
boxes.

Evidence (3-4 Sentences):
| suggest you follow these talking points:

1. Rocks are more dense than napkins

2. | order to identify, she needs to know the density of the two boxes.

3. To solve for density, you need to use the D= M/V formula. Where M=Mass and
V=Volume.

4. Knowing the volume is not enough, she also needs the mass.

Reasoning (3-4 Sentences):
| suggest you follow these talking points:

1. Restate the claim as a fact.

2. In order to solve for density, both mass and volume must be given, otherwise
there are too many unknowns.

3. You would not be able to solve D = unknown/8000cm3

4. Once she knows the mass of the two boxes she can calculate the density and
easily identify the two boxes.



